Efficiency vs hit

@ 0.01
#.00!
>
.00
f =

h

0 0 20 30 40 50 60
TP hits

—=— DQM_TT__mkFit-DQM_original

—— /data2/legianni/standalone-May24/CMSSW_13_2_X_2023-06-05-1100/src/DQM_TT__mkFit-DQM_mod_up|
—— DQM_TT__mkFit-DQM_update-mod127

I Efficienc| —— DQM_TT__mkFit-DQM_127-updatemod127

Hatedmod-127

00.02p
Q

o 0 |
§ 1.5

|l

Efficiency vs pixel layer

o
2

o o
o O

effigiengy vs pixel layers
= S
o O

0O 1 2 3 4 5 6 7 8
TP pixel layers

» 0.01

8 10 12 14 16 18 20
TP 3D layers



	Contents
	Page 1


